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ÍÛæ̃ Û¶ÛÛ : (1) þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé. 

  (2) ›÷ÄõÁõà •Û¨Û©ÛÁõà…Ûé ©Û¾ÛÛÁõÛ ›÷ÈÛÛ¼Û¶ÛÛ ½ÛÛ•ÛÄõ¸Ûé þùÉÛÛÙÈÛÛé. 
 

1. µÛóä¾Ûà ÜÅÛ.¶Ûä× Š©¸ÛÛþù¶Û ªÛ¨Û ›ä÷þùà ›ä÷þùà ¸ÛóÜ’õýÛÛ…Ûé¾ÛÛ×¬Ûà ¸ÛÍÛÛÁõ ¬ÛÛýÛ ™öé …¶Ûé ©ýÛÛÁõ ¼ÛÛþù ©ÛíéýÛÛÁõ ¾ÛÛÅÛ Í¤øÛéïõ 

”ÛÛ©Ûé ÅÛˆ ›÷ÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. ÍÛ×¼Û×ÜµÛ©Û ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 14 

ÜÈÛ•Û©Û ¸ÛóÜ’õýÛÛ-… ¸ÛóÜ’õýÛÛ-¼Û ¸ÛóÜ’õýÛÛ-ïõ 

þùÛ”ÛÅÛ ïõÁéõÅÛ …éïõ¾ÛÛé (…éïõ¾Û þùà¥ø ` 10 ÅÛé”Ûé) (?) – – 

Š©¸ÛÛþù¶Û …¶ýÛ ¸ÛóÜ’õýÛÛ ”ÛÛ©Ûé ÅÛˆ •ÛýÛÛ (…éïõ¾ÛÛé) 9, 500 (?) (?) 

ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø (þùÛ”ÛÅÛ ïõÁéõÅÛ …éïõ¾ÛÛé ¸ÛÁõ ¤øïõÛÈÛÛÁõà) 2.5% 5% 8% 

ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø¶Ûà ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û (þùÁéõïõ 10 …éïõ¾ÛÛé¶Ûà) ` 40 ` 120 ` 250 

…ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø - …éïõ¾ÛÛé (…éïõ¾Û þùà¥ø ¸Û¦ø©ÛÁõ ` 20) 250 – – 

…ÍÛÛ¾ÛÛ¶ýÛ ÈÛµÛÛÁõÛé-…éïõ¾ÛÛé (…éïõ¾Û þùà¥ø ¸Û¦ø©ÛÁõ ` 40) – – 222 

ÍÛÛ¾ÛÛ¶ýÛ Š©¸ÛÛþù¶Û¶Ûà …éïõ¾Û þùà¥ø ¸Û¦ø©ÛÁõ – ` 32 – 

 ¼ÛµÛà ›÷ ¸ÛóÜ’õýÛÛ…Ûé¾ÛÛ× ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà …¶Ûé ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ¶Ûä× ¸Ûó¾ÛÛ¨Û 3 : 2 ™öé. 

 ¸ÛóÜ’õýÛÛ ”ÛÛ©ÛÛ, …ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø ”ÛÛ©Ûä× …¶Ûé …ÍÛÛ¾ÛÛ¶ýÛ ÈÛµÛÛÁõÛ¶Ûä× ”ÛÛ©Ûä× ©ÛíéýÛÛÁõ ïõÁõÛé.  

…¬ÛÈÛÛ 



1. Ü¼ÛÁõÈÛÛ ÜÅÛ. ¶Ûà ¸ÛóÜ’õýÛÛ-1 ¶Ûé ÅÛ•Û©Ûà ¾ÛÛ˜ÛÙ, 2011 ¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 14 

 (1) ÉÛÄõ…Û©Û¶ÛÛé …µÛÙ ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛé Í¤øÛéïõ : 

  …éïõ¾ÛÛé  :     2,000 

            ` 

  ©Ûé¶Ûà ¸Û¦ø©ÛÁõ :  ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 52,800 

     ¾Û›æ÷Áõà 24,900 

     ¸ÛÁõÛé“Û”Û˜ÛÛÙ   8,200 

      85,900 

 (2) ¸ÛóÜ’õýÛÛ¶ÛÛ ”Û˜ÛÛÙ : 

  þùÛ”ÛÅÛ ïõÁéõÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û  ` 1,20,000 

   (10,000 …éïõ¾ÛÛé) 

  ¾Û›æ÷Áõà    `   80,000 

  ¸ÛÁõÛé“Û ”Û˜ÛÛÙ   `   50,000 

 (3) ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø : ïäõÅÛ þùÛ”ÛÅÛ ïõÁéõÅÛ …éïõ¾ÛÛé¶ÛÛ 5% (ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ + þùÛ”ÛÅÛ ïõÁéõÅÛ …éïõ¾ÛÛé) 

 (4) …Û”ÛÁõ¶ÛÛé …µÛÙ ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛé Í¤øÛéïõ : 2,500 …éïõ¾ÛÛé 

 (5) ¸ÛóÜ’õýÛÛ – 2 ”ÛÛ©Ûé ÅÛˆ •ÛýÛéÅÛ Š©¸ÛÛþù¶Û : 8,500 …éïõ¾ÛÛé 

 (6) ¸Ûæ¨ÛÙ©ÛÛ¶Ûà ïõ“ÛÛ : 

 ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ …Û”ÛÁõ Í¤øÛéïõ ¼Û•ÛÛ¦ø 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 90% 100% 80% 

¾Û›æ÷Áõà 75% 70% 60% 

¸ÛÁõÛé“Û ”Û˜ÛÛÙ 35% 40% 50% 

 (7) ¼Û•ÛÛ¦ø¶Ûà ÈÛé˜ÛÛ¨Û Ýïõ¾Û©Û …éïõ¾Û þùà¥ø ` 5 ™öé. 

 ©ÛíéýÛÛÁõ ïõÁõÛé : (1) ¸Ûæ¨ÛÙ …éïõ¾ÛÛé¶Ûä× ¸ÛªÛïõ (ÍÛÁéõÁõÛÉÛ ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà¶Ûé) 

   (2) ¸Û¦ø©ÛÁõ ¸ÛªÛïõ 

   (3) ¾ÛæÅýÛÛ×ïõ¶Û ¸ÛªÛïõ 

   (4) ¸ÛóÜ’õýÛÛ – 1¶Ûä× ”ÛÛ©Ûä× 
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2. •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û ÅÛ”ÛÛé :  14 

 (…) Áõà¾ÛÛ ÜÅÛ.¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

 2011 

` 

2012 

` 

ÈÛé˜ÛÛ¨Û 4,00,000 5,00,000

¶ÛºõÛé 40,000 80,000

  Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 

  (1) ¶ÛºõÛ-›÷¬¬ÛÛ¶ÛÛé •Ûä¨ÛÛé«ÛÁõ 

  (2) ÜÍ¬ÛÁõ ”Û˜ÛÛÙ 

  (3) ` 2,00,000 ¶ÛÛé ¶ÛºõÛé ïõ¾ÛÛÈÛÛ ¾ÛÛ¤éø ›÷ÄõÁõà ÈÛé˜ÛÛ¨Û 

 (¼Û) ÜïõÍÛ¶Û ÜÅÛ.¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇé ™öé : 

 ÈÛÍ©Ûä … 

(…éïõ¾Û þùà¥ø) 

ÈÛÍ©Ûä ¼Û 

(…éïõ¾Û þùà¥ø) 

ºõÛÇÛé (`) 50 66 

¸Ûó©ýÛ“Û ïõÛ¾ÛþùÛÁõ ïõÅÛÛïõÛé 10 12 

  ¸Ûó©ýÛ“Û ïõÛ¾ÛþùÛÁõ ïõÅÛÛïõÛé ˜ÛÛÈÛàÄõ¸Û ¸ÛÜÁõ¼ÛÇ ™öé. 

  ºõî©Û 2,00,000 ¸Ûó©ýÛ“Û ïõÛ¾ÛþùÛÁõ ïõÅÛÛïõÛé ¸ÛóÛ¸ýÛ ™öé. ï×õ¸Û¶Ûà¶Ûà ¾ÛÐü«Û¾Û Š©¸ÛÛþù¶Û “Û¾Û©ÛÛ ÈÛÍ©Ûä … 

…¶Ûé ¼Û ¾ÛÛ¤éø …¶Ûä’õ¾Ûé 10,000 …éïõ¾ÛÛé …¶Ûé 12,000 …éïõ¾ÛÛé ™öé. 

  ï×õ¸Û¶Ûà¶ÛÛ ÜÍ¬ÛÁõ ”Û˜ÛÛÙ ` 6,50,000 ™öé. 

  ¾ÛÐü«Û¾Û ¶ÛºõÛé ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤é øˆÌ¤øø Š©¸ÛÛþù¶Û Ü¾ÛËÛ¨Û ÉÛÛéµÛÛé. ¾ÛÐü«Û¾Û ¶ÛºõÛ¶Ûà Áõïõ¾Û¶Ûà ¸Û¨Û •Û¨Û©ÛÁõà 

ïõÁõÛé. 

 (ïõ) •Û¾Ûé ©Ûé ¼Ûé ÍÛ¾Û›ÛÈÛÛé : 

  (1) ˜ÛÛÈÛàÄõ¸Û ¸ÛÜÁõ¼ÛÇ 

  (2) ºõÛÇÛé 

  (3) ÍÛ¾Û©Ûæ¤ø Ü¼Û¶þäù 

 (¦ø) ÍÛ¾Û›ÛÈÛÛé : ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ, ¦æø¼ÛéÅÛà ¸Û¦ø©ÛÁõ, ïõÛÅ¸ÛÜ¶Ûïõ ¸Û¦ø©ÛÁõ 
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3. …ÛÉÛÛ ÜÅÛ. …×ïäõÉÛ¶ÛÛ Ðéü©Ûä ¾ÛÛ¤éø ¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁéõ ™öé. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇéÅÛ ™öé : 14 

(1)   ÜÈÛ•Û©Û …éïõ¾Û þùà¥ø    

¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ 

` 

 ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û (2 ÜïõÅÛÛé, ÜïõÅÛÛéþùà¥ø ` 10 ÅÛé”Ûé) 20 

 ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà (2 ïõÅÛÛïõ, ïõÅÛÛïõ þùà¥ø ` 3 ÅÛé”Ûé) 6 

 ˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÛÙ (2 ïõÅÛÛïõ, ïõÅÛÛïõ þùà¥ø ` 2 ÅÛé”Ûé) 4 

 ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ (2 ïõÅÛÛïõ, ïõÅÛÛïõ þùà¥ø ` 4 ÅÛé”Ûé) 8 

 38 

(2) ¼Û›÷é¤ø ¾Ûä›÷¼Û Š©¸ÛÛþù¶Û …¶Ûé ÈÛé˜ÛÛ¨Û = 10,000 …éïõ¾ÛÛé  

(3) ”ÛÁéõ”ÛÁõ ¾ÛÛÜÐü©Ûà :  ` 

 ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶ÛÛé ÈÛ¸ÛÁõÛÉÛ (16,500 ÜïõÅÛÛé, ÜïõÅÛÛé þùà¥ø ` 9.60 ÅÛé”Ûé) 1,58,400 

 ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà (15,000 ïõÅÛÛïõ, ïõÅÛÛïõ þùà¥ø ` 3.60 …éïõ¾ÛÛé) 54,000 

 ˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÛÙ 32,400 

 ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ 66,000 

(4) ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û …¶Ûé ÈÛé˜ÛÛ¨Û : 8,000 …éïõ¾ÛÛé  

 Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà  (1) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û (2) ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà (3) ˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÛÙ …¶Ûé (4) ÜÍ¬ÛÁõ 
¸ÛÁõÛé“Û ”Û˜ÛÛÙ …×•Ûé¶ÛÛ ÍÛ×¼Û×ÜµÛ©Û ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 

…¬ÛÈÛÛ 

3. (…) ©ÛÛéÁõÅÛ ÜÅÛ. ¼Ûé ýÛ×ªÛÛé ¸Ûíéïõà …éïõ ýÛ×ªÛ ”ÛÁõàþùÈÛÛ ¾ÛÛ×•Ûé ™öé, ›÷é þùÁéõïõ¶Ûà ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û ` 10,00,000 
™öé. þùÁéõïõ ýÛ×ªÛ¶Ûä× …×þùÛœ÷ …ÛýÛäÌýÛ 5 ÈÛÌÛÙ ™öé. ïõÛéˆ ½Û×•ÛÛÁõ Ýïõ¾Û©Û ¶Û¬Ûà. …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ 
10% ™öé. –ÛÍÛÛÁõÛé …¶Ûé ïõÁõÈÛéÁõÛ ¼ÛÛþù¶Ûà …×þùÛœ÷ ïõ¾ÛÛ¨Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 10 

ÈÛÌÛÙ ýÛ×ªÛ “Û 

` 

ýÛ×ªÛ ýÛ 

` 

1 1,20,000 80,000 

2 1,40,000 1,60,000 

3 80,000 2,80,000 

4 5,20,000 6,00,000 

5 4,20,000 1,60,000 
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  ¶Ûà˜Ûé¶Ûà ¸Û±ùÜ©Û…Ûé ¾Ûä›÷¼Û ýÛ×ªÛ¶Ûà ¸ÛÍÛ×þù•Ûà …×•Ûé ï×õ¸Û¶Ûà¶Ûé ÍÛÅÛÛÐü …Û¸ÛÛé : 

  (1) ¸ÛÁõ©Û-…Û¸Û ÍÛ¾ÛýÛ 

  (2) ˜ÛÛé””Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 

  10% ¶ÛÛ ÈÛ¤øÛÈÛ þùÁéõ ` 1 ¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

ÈÛÌÛÙ 1 2 3 4 5 

ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 0.909 0.826 0.751 0.683 0.621 

 (¼Û) ÈÛéþùÛ¶©Û ÜÅÛ. ¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 4 

ˆÜîÈÛ¤øà ÉÛéÁõ ¾Ûæ¦øà ` 2,50,000 

10% ¶ÛÛ Ü¦ø¼Ûê˜ÛÁõ ` 5,00,000 

ÈÛé˜ÛÛ¨Û 6,000 …éïõ¾ÛÛé, þùÁéõïõ ` 250 ¶ÛÛ ½ÛÛÈÛé   

ÜÍ¬ÛÁõ ”Û˜ÛÛÙ (ÈýÛÛ›÷ ÜÍÛÈÛÛýÛ¶ÛÛ) ` 2,00,000 

˜ÛÜÅÛ©Û ”Û˜ÛÛÙ  …éïõ¾Û þùà¥ø ` 200 

ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% 

   ©Û¾ÛÛÁéõ ¶ÛÛ¨ÛÛïõàýÛ ÜÅÛÈÛÁéõ›÷ …¶Ûé ïõÛ¾Û•ÛàÁõà ÜÅÛÈÛÁéõ›÷¶Ûà •Û¨Û©ÛÁõà ïõÁõÈÛÛ¶Ûà ™öé. 

 

4. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ïèõÜ©Û ÜÅÛ.¶Ûä× …éÜ¸ÛóÅÛ, ¾Ûé …¶Ûé ›æ÷¶Û 2012¶ÛÛ ¾ÛÜÐü¶ÛÛ…Ûé ¾ÛÛ¤éø ÁõÛéïõ¦ø …×þùÛ›÷¸ÛªÛ 
©ÛíéýÛÛÁõ ïõÁõÛé :     14 

¾ÛÛÍÛ ÈÛé̃ ÛÛ¨Û 

` 

”ÛÁõàþùà 

` 

¾Û›æ÷Áõà 

` 

…¶ýÛ ”Û˜ÛÛÙ 

` 

ºéõ¼Ûóä…ÛÁõà 3,50,000 2,50,000 30,000 32,000 

¾ÛÛ˜ÛÙ 4,00,000 3,00,000 35,000 24,000 

…éÜ¸ÛóÅÛ 2,50,000 3,25,000 25,000 20,000 

¾Ûé 3,25,000 3,50,000 40,000 36,000 

›æ÷¶Û 2,75,000 1,50,000 20,000 16,000 

 …¶ýÛ ¾ÛÛÜÐü©Ûà : 

 (1) ”ÛÁõàþùà …¶Ûé ÈÛé˜ÛÛ¨Û¶ÛÛ 80% ŠµÛÛÁõ ¬ÛÛýÛ ™öé. 

 (2) ÁõÛéïõ¦ø ”ÛÁõàþùà …¶Ûé ÁõÛéïõ¦ø ÈÛé˜ÛÛ¨Û ¸ÛÁõ ÁõÛéïõ¦ø ÈÛ¤øÛÈÛ¶ÛÛé þùÁõ 5% ™öé. 

 (3) ŠµÛÛÁõ ÈÛé˜ÛÛ¨Û¶Ûà Áõïõ¾Û ÈÛé˜ÛÛ¨Û ¸Û™öà¶ÛÛ ¼Ûé ¾ÛÜÐü¶ÛÛ¾ÛÛ× ÍÛÁõ”Ûé ÜÐüÍÍÛé ÈÛÍÛæÅÛ ¬ÛÛýÛ ™öé. 

 (4) ŠµÛÛÁõ ”ÛÁõàþùà¶Ûà Áõïõ¾Û ¸Û™öà¶ÛÛ ¾ÛÜÐü¶ÛÛ¾ÛÛ× ˜ÛæïõÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 
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 (5) ¾Û›æ÷Áõà¶ÛÛ 60% …é ›÷ ¾ÛÜÐü¶ÛÛ¾ÛÛ× ˜ÛæïõÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé …¶Ûé ¼ÛÛïõà¶Ûà Áõïõ¾Û ¸Û™öà¶ÛÛ ¾ÛÜÐü¶ÛÛ¾ÛÛ× 
˜ÛæïõÈÛÛýÛ ™öé. 

 (6) …¶ýÛ ”Û˜ÛÛÙ ˜ÛæïõÈÛÈÛÛ¶ÛÛé ÍÛ¾ÛýÛ•ÛÛÇÛé ¼ ¾ÛÛÍÛ ™öé. 

 (7) ©ÛÛ. 1-4-2012 ¶ÛÛ ÁõÛé› ` 2,00,000 ¶ÛÛ 10% ¶ÛÛ Ü¦ø¼Ûê˜ÛÁõ ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¶ÛÛ ™öé …¶Ûé Ü¦ø¼Ûê˜ÛÁõ 
¸ÛÁõ ¸Ûó¬Û¾Û ÜªÛ¾ÛÛÜÍÛïõ ÈýÛÛ›÷ 30 ›æ÷¶Û, 2012 ¶ÛÛ ÁõÛé›÷ ˜ÛæïõÈÛÈÛÛ¸ÛÛªÛ ¬ÛÉÛé. 

 (8) ©ÛÛ. 1-4-2012¶ÛÛ ÁõÛé› ÁõÛéïõ¦ø …¶Ûé ¼Ûêïõ ÜÍÛÅÛïõ ` 15,000. 

…¬ÛÈÛÛ 

4. ¦øà.ïéõ. ÜÅÛ. 100% ïõÛýÛÙ“Û¾Û©ÛÛ…é 10,000 …éïõ¾ÛÛé¶Ûä× Š©¸ÛÛþù¶Û ïõÁéõ ™öé. ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇéÅÛ ™öé  : 14 

 50 % ÉÛÜî©Û 

` 

 70% ÉÛÜî©Û 

` 

ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ 55,000  65,000 

ÈÛÐüàÈÛ¤øà ¸ÛÁõÛé“Û ”Û˜ÛÛÙ 60,000  60,000 

ÈÛé˜ÛÛ¨Û-ÜÈÛ©ÛÁõ¨Û¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ 64,000  80,000 

 Š©¸ÛÛþù¶Û¶ÛÛé þùÁõ ¸Ûó©ýÛéïõ ïõÅÛÛïéõ 5 …éïõ¾ÛÛé ™öé. ¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ¸Û¦ø©ÛÁõ …éïõ¾Û þùà¥ø ` 10 …¶Ûé ¸Ûó©ýÛ“Û 
¾Û›æ÷Áõà¶ÛÛé þùÁõ ïõÅÛÛïõ þùà¥ø ` 30 ™öé. 

 ï×õ¸Û¶Ûà ÐüÛÅÛ ºõî©Û 50% “Û¾Û©ÛÛ…é ¸ÛóÈÛèÜ«Û ïõÁéõ ™öé. ÈÛ©ÛÙ¾ÛÛ¶Û Š©¸ÛÛþù¶Û¶Ûà ïäõÅÛ ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ` 4,00,000 ™öé. 

 …éÈÛà µÛÛÁõ¨ÛÛ ™öé ïéõ ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û¾ÛÛ× 5% –Û¤øÛ¦øÛé ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ©ÛÛé ï×õ¸Û¶Ûà ÈÛé̃ ÛÛ¨Û ›÷¬¬ÛÛé ÈÛµÛÛÁõà ÉÛïõÉÛé 
…¶Ûé ï×õ¸Û¶Ûà 60% …¬ÛÈÛÛ 90% “Û¾Û©ÛÛ…é ¸ÛóÈÛèÜ«Û ïõÁõà ÉÛïõÉÛé. 

 60% …¶Ûé 90% Š©¸ÛÛþù¶Û “Û¾Û©ÛÛ ¾ÛÛ¤éø ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ …×þùÛ›÷¸ÛªÛ ©ÛíéýÛÛÁõ ïõÁõÛé …¶Ûé ¶ÛºõÛé ÉÛÛéµÛÛé. 
 

5. ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé …¶Ûé ›÷ÄõÁõ ÐüÛéýÛ ©ýÛÛ× ›÷ÄõÁõà •Û¨Û©ÛÁõà þùÉÛÛÙÈÛÛé (•Û¾Ûé ©Ûé ÍÛÛ©Û) : 14 

 (1) …éïõ ¸ÛóÜ’õýÛÛ¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé :  

   ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ 2,000 …éïõ¾ÛÛé 

   þùÛ”ÛÅÛ ïõÁéõÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 6,000 …éïõ¾ÛÛé 

   ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø ïäõÅÛ þùÛ”ÛÅÛ ïõÁéõÅÛ …éïõ¾ÛÛé¶ÛÛ 10%  

   ”ÛÁéõ”ÛÁõ ¼Û•ÛÛ¦ø  1,000 …éïõ¾ÛÛé 

   …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ  1,500 …éïõ¾ÛÛé  

   ¸ÛóÜ’õýÛÛ¶ÛÛ Š©¸ÛÛþù¶Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 

   (a) 7,000 …éïõ¾ÛÛé (b) 6,500 …éïõ¾ÛÛé 

   (c) 5,500 …éïõ¾ÛÛé (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éï õ¸Û¨Û ¶ÛÐüá 
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 (2) …éïõ ï×õ¸Û¶Ûà¶Ûä× ÍÛ×ýÛäî©Û ÜÅÛÈÛÁéõ›÷ 6 ™öé …¶Ûé ïõÛ¾Û•ÛàÁõà ÜÅÛÈÛÁéõ›÷ 2 ™öé. ï×õ¸Û¶Ûà¶Ûä× ¶ÛÛ¨ÛÛïõàõýÛ ÜÅÛÈÛÁéõ›÷ ïõýÛä× 

ÐüÉÛé ? 

  (a) 3  (b) 4 

  (c) 0.3  (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ ¸Û¨Û ¶ÛÐüá 

 (3) ÊÈÛé©ÛÛ ÜÅÛ. ` 20,00,000 ¶Ûà Ýïõ¾Û©Û¶Ûä× …éïõ ýÛ×ªÛ •ÛÛé¥øÈÛÈÛÛ ¾ÛÛ×•Ûé ™öé. ýÛ×ªÛ ³ùÛÁõÛ, 10% –ÛÍÛÛÁõÛé ¼ÛÛþù 

ïõýÛÛÙ ¸Û™öà ¸ÛÁ×õ©Ûä ïõÁõÈÛéÁõÛ ¸ÛÐéüÅÛÛ, ÈÛÛÜÌÛÙïõ ` 3,00,000 ¶ÛºõÛé ¬ÛÉÛé. ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% ™öé.       

¸ÛÁõ©Û-…Û¸Û ÍÛ¾ÛýÛ ïéõ¤øÅÛÛé ¬ÛÉÛé ? 

  (a) 10 ÈÛÌÛÙ (b) 8 ÈÛÌÛÙ 

  (c) 5 ÈÛÌÛÙ  (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ ¸Û¨Û ¶ÛÐüá 

 (4) ïõÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ¶Ûà ïäõÅÛ Áõïõ¾Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

   Š©¸ÛÛþù¶Û (…éïõ¾ÛÛé) ïõÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ 

   10,000 ` 3,50,000 

   15,000 ` 5,00,000 

  ÜÍ¬ÛÁõ ”Û˜ÛÛÙ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 

  (a) ` 40,000 (b) ` 50,000 

  (c) ` 60,000 (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ ¸Û¨Û ¶ÛÐüá 

 (5) ºõÛÇÛé = _________. 

  (a) ÜÍ¬ÛÁõ ”Û˜ÛÛÙ + ¶ÛºõÛé (b) ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û – ˜ÛÜÅÛ©Û ”Û˜ÛÛÙ 

  (c) ÜÍ¬ÛÁõ ”Û˜ÛÛÙ – ”ÛÛé¤ø (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ ¸Û¨Û ¶ÛÐüá 

 (6) ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ …é¤øÅÛé _________. 

  (a) ÈÛíéïõÜÅ¸Ûïõ ¸Û¦ø©ÛÁõ (b) ¦æø¼ÛéÅÛà ¸Û¦ø©ÛÁõ 

  (c) ïõÛÅ¸ÛÜ¶Ûïõ ¸Û¦ø©ÛÁõ (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÐüá 

 (7) ”ÛÁõàþù ¼Û›÷é¤ø ¾Ûä›÷¼Û, ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ”ÛÁõàþùà  = ________. 

  (a) Š©¸ÛÛþù¶Û ¾ÛÛ¤éø ›÷ÄõÁõà ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û + …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ – ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ 

  (b) Š©¸ÛÛþù¶Û ¾ÛÛ¤éø ›÷ÄõÁõà ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û + ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ – …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ 

  (c) Š©¸ÛÛþù¶Û ¾ÛÛ¤éø ›÷ÄõÁõà ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 

  (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ ¸Û¨Û ¶ÛÐüá 
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 (8) ›Ûé ¶ÛºõÛ-›÷¬¬ÛÛ¶ÛÛé •Ûä̈ ÛÛé«ÛÁõ 50% ÐüÛéýÛ, ÍÛÅÛÛ¾Û©Ûà •ÛÛÇÛé 40% ÐüÛéýÛ …¶Ûé ÈÛé̃ ÛÛ¨Û ` 9,00,000 ÐüÛéýÛ 
©ÛÛé ÍÛ¾Û©Ûæ¤ø Ü¼Û¶þäù ¶Ûà˜Ûé ¾Ûä›÷¼Û ÐüÉÛé : 

  (a) ` 3,60,000 (b) ` 5,40,000 

  (c) ` 4,50,000 (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ ¸Û¨Û ¶ÛÐüá 

 (9) ¸ÛóÜ’õýÛÛ - 1 ¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

  ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ : 12,000 …éïõ¾ÛÛé 

  (¸Ûæ̈ ÛÙ©ÛÛ¶Ûà ïõ“ÛÛ : ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 75%)  

  ©ÛíéýÛÛÁõ …éïõ¾ÛÛé  : 35,000  

  ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø : 2,500 …éïõ¾ÛÛé 

  …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ : 7,500 …éïõ¾ÛÛé 

  (¸Ûæ̈ ÛÙ©ÛÛ¶Ûà ïõ“ÛÛ : ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 60%) 

  ºõàºõÛé ¸Û±ùÜ©Û ¾Ûä›÷¼Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ´ùÜÌ¤ø…é ÍÛ×̧ Ûæ̈ ÛÙ …éïõ¾ÛÛé ïéõ¤øÅÛÛ ¬ÛÉÛé ? 

  (a) 30,500 …éïõ¾ÛÛé (b) 42,500 …éïõ¾ÛÛé 

  (c) 39,500 …éïõ¾ÛÛé (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ ¸Û¨Û ¶ÛÐüá 

 (10) ›Ûé ÜÍ¬ÛÁõ ”Û˜ÛÛÙ ` 1,20,000 ÐüÛéýÛ, …éïõ¾Û þùà¥ø ˜ÛÜÅÛ©Û ”Û˜ÛÛÙ ` 12 ÐüÛéýÛ …¶Ûé ÍÛ¾Û©Ûæ¤ø Ü¼Û¶þäù 

10,000 …éïõ¾ÛÛé ÐüÛéýÛ ©ÛÛé …éïõ¾Û þùà¥ø ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ïéõ¤øÅÛà ÐüÉÛé ? 

  (a) ` 12  (b) ` 24 

  (c) ` 36  (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ ¸Û¨Û ¶ÛÐüá 

______________ 
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Advanced Accounting & Auditing : Paper – IV  

(Cost & Management Accounting) 
 

Time :  3 Hours]  [Max. Marks : 70 
 

 

Instructions :  (1) Each question carries equal marks. 

   (2) Show necessary calculations as a part of your answer. 

 

1. A product of Dhrumi Ltd. passes through three distinct processes and thereafter, it is 
transferred to finished stock. Relevant information is as under : 14 

Particulars Process – A Process – B  Process – C 

Units introduced (At ` 10 per unit) (?) – – 

Production transferred to other processes (units) 9, 500 (?) (?) 

Normal wastage (Percentage on units 
introduced) 

2.5% 5% 8% 

Selling price of normal wastage (for each 10 
units) 

` 40 ` 120 ` 250 

Abnormal wastage – units (cost per unit ` 20) 250 – – 

Abnormal gain – units (cost per unit ` 40) – – 222 

Cost per unit for normal production – ` 32 – 

 Proportion of direct labour and factory overheads is 3 : 2 in all the processes. 

 Prepare Process Accounts, Abnormal Wastage Account and Abnormal Gain Account.  

OR 



1. Information of Birva Ltd. in respect of Process – I for March, 2011 is as under : 14 

 (1) Opening Stock of work-in-progress : 

  Units  :  2,000 

            ` 

  Its cost :  Material 52,800 

     Labour 24,900 

     Overheads   8,200 

      85,900 

 (2) Process Expenses : 

  Material introduced  ` 1,20,000 
   (10,000 units) 

  Labour   `   80,000 

  Overheads   `   50,000 

 (3) Normal wastage : 5% of total input (Opening Stock + Units introduced) 

 (4) Closing Stock of work-in-progress : 2,500 units 

 (5) Production transferred to process – II : 8,500 units 

 (6) Degree of completion : 

 Opening Stock Closing Stock Wastage 

Material 90% 100% 80% 

Labour 75% 70% 60% 

Overheads 35% 40% 50% 

 (7) Wastage is sold at ` 5 per unit. 

 Prepare : (1) Statement of equivalent production using average cost method. 

   (2) Statement of cost. 

   (3) Valuation statement. 

   (4) Process – I account. 
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2. Answer any two :   14 

 (A) Information of Rima Ltd. is as follows : 

 2011 

` 

2012 

` 

Sales 4,00,000 5,00,000

Profit 40,000 80,000

  From the above information, calculate : 

  (1) P.V. Ratio 

  (2) Fixed expenses 

  (3) Necessary sales to earn profit of ` 2,00,000. 

 (B) The following information is available of Kisan Ltd. : 

 Product A 

(per unit) 

Product B 

(per unit) 

Contribution (`) 50 66 

Direct labour hours 10 12 

  Direct labour hours is a key factor. 

  Only 2,00,000 labour hours are available. Maximum production capacity of the 
company for Product A and B is 10,000 units and 12,000 units respectively. 

  Fixed expenses of the company are ` 6,50,000. 

  Find out the production mix which will yield maximum profit. Also calculate the 
amount of maximum profit. 

 (C) Explain any two : 

  (1) Key factor 

  (2) Contribution 

  (3) Break-even-point 

 (D) Explain : Relevant cost, Sunk cost, Notional cost. 
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3. Asha Ltd. uses standard cost system for control purpose. Following information is 
available :     14 

(1) Particulars Standard Cost 
per unit 

` 

 Material (2 kgs at ` 10 per kg) 20 

 Direct labour (2 hours at ` 3 per hour) 6 

 Variable overheads (2 hours at ` 2 per hour) 4 

 Fixed overheads (2 hours at ` 4 per hour) 8 

 38 

(2) Budgeted production and sales = 10,000 units  

(3) Actual information :  ` 

 Consumption of material (16,500 kgs at ` 9.60 per kg) 1,58,400 

 Direct labour (15,000 hours at ` 3.60 per hour) 54,000 

 Variable overheads 32,400 

 Fixed overheads 66,000 

(4) Actual production and sales : 8,000 units.  

 From the above information calculate relevant variances regarding (1) Material               
(2) Direct Labour (3) Variable Overheads and (4) Fixed Overheads. 

OR 

3. (A) Toral Ltd. wants to purchase one of the two alternative machines, each costing                  
` 10,00,000. Estimated life of each machine is 5 years. There is no scrap value. 
Expected rate of return is 10%. Expected earnings after depreciation and taxes are 
as follows :   10 

Year Machine X 

` 

Machine Y 

` 

1 1,20,000 80,000 

2 1,40,000 1,60,000 

3 80,000 2,80,000 

4 5,20,000 6,00,000 

5 4,20,000 1,60,000 
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  Advise the company regarding the selection of the machine as per following 
methods : 

  (1) Payback period 

  (2) Net Present Value 

  Present value of ` 1 at 10% discount rate is as follows : 

Year 1 2 3 4 5 

Present value 0.909 0.826 0.751 0.683 0.621 

 (B) Following  details relates to Vedant Ltd. : 4 

Equity share capital ` 2,50,000 

10% Debentures ` 5,00,000 

Sales 6,000 units at  ` 250 each.   

Fixed cost (excluding interest)  ` 2,00,000 

Variable cost  ` 200 per unit 

Tax rate 50% 

  You are required to calculate Financial Leverage and Operating Leverage. 

 

4. From the following information, prepare cash budget of Kruti Ltd. for the months of 
April, May and June, 2012 :  14 

Month Sales 

` 

Purchases 

` 

Wages 

` 

Other Expenses 

` 

February 3,50,000 2,50,000 30,000 32,000 

March 4,00,000 3,00,000 35,000 24,000 

April 2,50,000 3,25,000 25,000 20,000 

May 3,25,000 3,50,000 40,000 36,000 

June 2,75,000 1,50,000 20,000 16,000 

 Other information : 

 (1) 80% of purchases and sales are on credit terms. 

 (2) The rate of cash discount on cash purchases and cash sales is 5%. 

 (3) The amount of credit sales is collected equally in two subsequent months. 

 (4) The amount of credit purchases is paid in the next month. 
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 (5) 60% of wages are paid in the same month and the balance amount in the next 
month. 

 (6) Time lag for other expenses is ¼ month. 

 (7) 10% Debentures of ` 2,00,000 are to be issued on 1-4-2012 and first quarterly 
interest on the Debentures is payable on 30th June, 2012. 

 (8) Cash and bank balance on 1-4-2012 ` 15,000. 

OR 

4. D.K. Ltd. produces 10,000 units at 100% capacity. The following information is 
available  :     14 

 50 % capacity 

` 

 70% capacity 

` 

Factory overheads 55,000  65,000 

Administrative overheads 60,000  60,000 

Selling and distribution overheads 64,000  80,000 

 The rate of production per hour is 5 units. Cost of direct material is ` 10 per unit and 
direct wages per hour is ` 30. 

 At present the company is operating only at 50% capacity. Total selling price of present 
production is ` 4,00,000. 

 It is anticipated that 5% reduction in selling price will enable the company to increase its 
sales volume and thereby enable to operate at 60% or 90% capacity. 

 Prepare flexible budget for 60% and 90% production capacity and find out profit. 

 
5. Select the correct answer and show necessary calculations, if necessary (any seven) : 14 

 (1) The following information relates to a process :  

  Opening stock 2,000 units 

  Material introduced 6,000 units 

  Normal loss 10% of the total input 

  Actual loss   1,000 units 

  Closing Stock 1,500 units 

  Find out the production of the process.  

  (a) 7,000 units (b) 6,500 units 

  (c) 5,500 units (d) None of the above 
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 (2) Combined leverage of a company is 6 and operating leverage is 2. What will be the 
financial leverage ? 

  (a) 3  (b) 4 

  (c) 0.3  (d) None of the above 

 (3) Sweta Ltd. wants to install a machine costing ` 20,00,000. It will earn annual profit 
of ` 3,00,000 after charging 10% depreciation but before tax. Tax rate is 50%. 
What will be the payback period ? 

  (a) 10 years (b) 8 years 

  (c) 5 years (d) None of the above 

 (4) Total factory overheads are given below : 

   Production (Units) Factory overheads 

   10,000 ` 3,50,000 

   15,000 ` 5,00,000 

  Find out the fixed expenses. 

  (a) ` 40,000 (b) ` 50,000 

  (c) ` 60,000 (d) None of the above  

 (5) Contribution = _________. 

  (a) Fixed Cost + Profit (b) Selling Price – Variable Cost 

  (c) Fixed Cost – Loss (d) All of the above  

 (6) A relevant cost is _________. 

  (a) an opportunity cost (b) a sunk cost 

  (c) a notional cost (d) None of the above  

 (7) According to purchase budget, material purchase  = ________. 

  (a) Required material for production + Closing stock – Opening stock 

  (b) Required material for production + Opening stock – Closing stock 

  (c) Required material for production 

  (d) None of the above 
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 (8) If P/V Ratio is 50%, margin of safety is 40% and sales is ` 9,00,000, then               
break-even-point will be as under : 

  (a) ` 3,60,000 (b) ` 5,40,000 

  (c) ` 4,50,000 (d) None of the above 

 (9) Particulars of Process – I are as under : 

  Opening Stock   : 12,000 units 

  (Degree of completion : Material 75%)  

  Finished goods   : 35,000 units 

  Normal wastage : 2,500 units 

  Closing stock      : 7,500 units 

  (Degree of completion : Material 60%) 

  What will be the equivalent units of material as per FIFO method ? 

  (a) 30,500 units (b) 42,500 units 

  (c) 39,500 units (d) None of the above  

 (10) If fixed expenses are ` 1,20,000, variable expenses per unit are ` 12 and break-
even-point is 10,000 units, then what will be the selling price per unit ? 

  (a) ` 12  (b) ` 24 

  (c) ` 36  (d) None of the above 

______________ 
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